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VI Semester B.Com. Examination, May/June - 2019
COMMERCE

6.4 : Management Accounting
(CBCS - Fresh+Repeaters - 2017-18 onwards)

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in Kannada.
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1. (a) Seemmd ) Qé?&iﬁ@d‘}@ TR BROOIT BRBETI 5:?65304 e BB,

Name the Parties who are interested in the Financial Statement
Analysis.

What is Trend Analysis ?
(c) w2 HTRmoI wéﬁrg;ofo DT 6535%@;1@5;0{ &V,
State two Requisites of Good Reporting System.
(d) dvoRFTIdh LoRIYT @iﬁ?‘ﬁ“’c\n& 32,
State the meaning of Working Capital.
(e) TN BOOINRE TEON wEPE DA
Write the meaning of Cash flow Statement.
(f) woBEzT ricdornt mmess & t,::oo’a%m;b& e TRBRO 9
How do you Calculate Capital Gearing Ratio ?
(g) WRT, Mg, W, DJews wqﬁgﬁa’nd &S 2.

Give the meaning of Common Size Statement analysis.

P.T.O.
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oSRP@eETe 3 WINYA YIOA. TS TN 6 woInw. 3x6=18

Answer Any 3 quc%tmn‘; Edch qucstlon carries 6 Marks.

g3 3YB0R TR&INOT FePHT ‘:-‘Lmewm TOWOHEBLD -

(i) 308 O (i) VA ﬁ&;mm YWTRE  (iii) FO-BIBK OWTI
Toé : Y vANe 6,00, OOU =$80ps oA T 60,000, aﬁmr oéu ww—mr\)u

% 1,60,000, FCBRY HPOKT =g, ¥ 23,00, 000, TR, FWeTd 22 0TYS m:ép

¥ 8,00,000, 10% eﬂd‘@ Reth e EoY % 3,00,000, 12% me; WIND ?3,00,000?
wed wwwwdnt I 3 00,000, =P, snemes T 2,00,000.

From the mformau()n given below, “calculate the following ratios :

{i) Quick ratio {i1) Stock Turnover ratio (iii) Debt-Equity ratio.

Information : Current Assets T 6,00,000, opening stock I 60,000, closing

stock T 1,60,000, cost of Goods sold ¥ 23,00,000, Equity Share Capital

T 8,00,000, 10% Prcference Share Capital ¥ 3,00,000, 12% Decbentures

¥ 3,00,000, Current Liabilities ¥ 3,00,000, General Reserves I 2,00,000.

g)wr 59“‘ 63?#\1%}5 ._ND\‘_’)\A}C\L- rv..:u._\.wuﬁ M&J@N
Briefly cxplaun the Role of Waﬂagement Accountant.

3YIOB HWONPOW ©TOPT TOTAN ROWOPHECS TORF ROWOR RN OV
2B IPORTY, FOWLRL
T

Re3BRG0 &,500
AHBY BRSMRORTVIYTH 15,300
2&:6 3 BNY WPTUE Y 14,000
ARV ﬁgn%» 20003 Oolmolichmy, TRSevaT = 20,000
DRBINY RwToLiDowE B 2,000
BRBNNTIT TRWE oW LINFE 8.000
TADRT TR0 50,000
No@wéf%i DB ReET DN RMPECRATITTR 20,000

eﬁ&md @ntADIer] 4.500

From the following details find out Funds from Operation of a Start up
Company.

4
Salaries 8,500
Depreciation Written off 15,300
Profit on Sale of Fixed assets 14,000
Discount on Debentures written off 20,000
Loss on Sale of Investments 2.000
Preliminary Expenses Written Off 8,000
Proposed Dividend 50,000
Transfer to Debenture Redemption Fund 20,000

Dividend received 4,500
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4 3
PASDIORI! 5,00,000 4,00,000
BRTOR BPRE ITES .au?; 3,00,000 1,80,000
BRYT =3 eo WID0E WeF 1,00,000 70,000
933 STUoDR v 20,000 10,000
wecdh 30nR 60,000 70,000
From the following information prepare a Comparative Income Statement.

Year 2016 Year 2017

% 4
Sales 5,00,000 4,00,000
Cost of Goods Sold 3,00,000 1,80,000
Administration & Selling Expenses 1,00,000 70,000
Other Incomes 20,000 10,000
Income Tax 60,000 70,000

6. TENT SLMTOT FTODE FRTLIBACOT oI I BSFR0.

31 @RcuT
2017 2018
-4 g
2TBe50T BoBNRT 60,000 57,000
B ¥aaoTatay) 20,000 22,500
‘v’\faw"’“’mw OB 30,000 35,000
AN 9,000 7,000
L0¢ QR ﬁzgﬁ% 2,000 2,200
RVONT TEWSRTOT ANDETLH G00 800
BReQBOLT &R 700 850
BOONBE=oN TWoLeRG S3T0D 900 350
e-33 w@WE Togd - 80,000

From the following balances calculate Cash from operations.
31st December

2017 2018
T £4
Bills receivables 60,000 57,000
Debtors 20,000 22,500
Bills payable 30,000 35,000
Creditors 9,000 7,000
0/S Expenscs 2,000 2,200
Prepaid Expenses 900 800
Accrued Income 700 850
Income reccived in advance 900 350
Profit made during the year - 80,000

PITIOI
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3x14=42

Answer any 3 quc'e,tums, Each th=<;110n carries 14 Marks.

7. Ly ¥@T's BodE eagpoes el Dmo0% 31.3.2017 Sow 33 $¥T0BOIE.
T 23ned
M Eaal
RRDFPT VW wIRLRINw | BANTC z
RRRT, Feh worEY 150 28 =3
o -
(BreeF TWoRE) (RorwT) 220
MRS B VRO 55| less: xmze 35 185
oy B I Iy, 20| &0 @2
ZOR wemen 10| o= 35
RN Hon 50| 93N 40
I[N 25 100
285 285
BT BRLS T FFTOBOIT
X e3ned)
ESDIOnIN 130
wE H3, or Woows wEonnw (EBIT) 40
30n T0ITT STWOORNL - 30
33 3UR JPATR wBTRINIR, T4 Y BAdRoTL ST maaamd SPR WICRO.
(i) oS VTS (iv) 908 B VTR
(ii) TR @ (v) TomRR SHLIET ST
(ii1) 2.3 o9g YIRS (vi) R0oRO [ERRTE SJO
(vii) Ao, HeTenie D3 (ROE) ©ogeod
The Summarised Balance Sheet of Aditya traders Ltd. for the year ended
31.3.2017 is given below :
Z Lakhs
lapital and Liability | ¥ Assets =4
Equity Share Capital | 150 Fixed Assets (at Cost)
(Fully Paid up) 220
Reserves & Surplus 55| Less Depreciation 35 185
Profit & Loss A/c¢ 20| Current Assets :
Provision for taxation | 10| Stock 35
Sundry Creditors 50| Debtors 40
Cash 25 100
285 285
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The additional information is given below :

T Lakhs
Sales 130
Earnings beforc interest & Tax - 40
Profit after tax (PAT) - 30

GS-468

Calculate the following for the company and explain the Significance of cach ratio.

{i} Current ratio (iv) Debtors Turnover ratio
(ii) Liquidity ratio (v) Stock Turnover ratio
(iii) Profitability ratio (vi) Average Collection Period

(vii) Return on Equity.

8. & R IoYHT maRvedcd & A, O wred BEFohd, DiEeRid.
s 01.01.2017(31.12.2017 e, (OLOLE0ITIS1.12.2017
TADEADLSTE LN GANTL
R 3 = L4 <

JNe 50000 54000 (znes 20000 8000

WOWNPOT JIEE e 50000 50000 fpdsedrisd 40000 60000
58 WHwPoT TH

i ) 25000 - TR TN T 45000 35000

Y

WOwew 135000 163000 |[cogriso 80000 635000

TETAW 40000 54000

EEIAY 25000 55000

260000 277000 260000 277000

B0 Tk

T3 VRS oboFRY BR, T 20,000

34000) 01.01.2017 Fom cHoZR%

< 50000.

o RG]

WD DRET SR

DN BOT ﬁéﬁoc’oabal 050,

&d

= —da
i,
L%

i

Given below are the Balance Sheet of Ramachandra & Sons.

X 6000 S0wNt (Fornmees ®mde
SRETLD "s® T 35000 még
033 ﬁ:a:i’i T 55000,

31.12.2017 Sow

5 e 1 Jan 201731 Dec 2017 1-Jan-2017 [ 31-Dec-2017
Liabilitics Assets
g 4 3 2
Creditors 50000 54000|Cash QOOOQ 8000
Loan from Bank 50000 60000 |Debtors 40000 60000
Mee.Ehiloas 25000 : Stock 45000 35000
Loan
Capital 135000 163000 |Machinery 90000 65000
Land 40000 55000
Building 25000 54000
260000 277000 260000 277000

P.T.O.
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During the year a machine costing ¥ 20,000 (accumulated depreciation
T 4000) sold for ¥ 6000. The Provision for Depreciation against Machinery as
on lst January 2017 was ¥ 35000 and on 31st December 2017 ¥ 50000.
Net Profit for the year amount to I 55000.

You are required to prepare Cash Flow Statement.

) DFeRD UHeB F32. RY ITEToZ 2015

@aﬂ;n’@’c 2015 2016 2017
< 4 4

BRTOE 300000 550000 650000
XORNG 30iR0TD ﬁa::;; 250000 300000 300000
TOBF WIDTLIINY T

T63e0 532.;;7'{%*0 10000 55000 70000
@003 ﬁa?’dﬂ%i) 5000 30000 45000
Ifcteaon) ﬁa:fgﬁ% 2000 5000 6000
FORF AT LIT PN ¢

RO, woedd Wi 6000 14000 30000
oW w2eds Wi 15000 20000 50000

From the Following information compute trend ratios, use 2015 as base year
(trend Percentage)

Particulars 2015 2016 2017
T 4 %

Sales 300000 550000 650000
Cost of goods sold 250000 300000 300000
Uperating Expenses :

Office Expenses 10000 55000 70000
Sclling Expenses 5000 30000 45000
Distribution Expenses 2000 5000 6000
Non-Operating Expenses :

Interest on Debentures 6000 14000 30000

Interest om Loan 15000 20000 50000
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10. ©8 3YB0B ©ONOT Dentdr Vs @D Esthy m@g 3 SOMSJROWDE: S loveielw
IoImOY : (a) W WORBHITOT WTTEFHD T, DR
(b) D& BOLT W, IoIPOX.
—— 31.3.16 |31.3.2017 ebegitae 31.3.16 | 31.8.17
T Z = z 7
AROWRT, R oW | 6,00,000| 7,50,000 TEIEISO 3,50,000| 5,00,000
Tvy IF 809 50,000 75,000 |cDoZRe 3,00,000{ 4,00,000
OTIFRD T 2,00,000| 4,00,000 c8Remsdense | 1,85,000] 2,05,000
Fedrigh 4,50,000| 5,40,000|53%0 2,60,000{ 4,50,000
BRBBHTE DOBND 85,000  95,000[93631%0 2,00,000| 1,80,000
Wod QT Brisd 5,000 10,000 [sncH 85,000( 1,35,000
TWRWE IO
esrisd 10,000 -
13,90,000] 18,70,000 13,90,000| 18,70,000

dﬂ%’%ﬁ@ wo&d
(a)

TOTURNTD.
(b)
(c)

BRTFPID BN T 10,000 3richassoand.
38 ITY DA 3R < 1,50,000.

oY Boed T 20,000 Ty wedeeTtonY ed T 20,000 e I

From the following Balance Sheet of Arvind Ltd and additional information

Prepare : (a] Statement of changes in Working Capital
(b) Fund Flow Statement.

SR 1306 | 31.3.17 31:3.16 | 31.8.17
Liabilities 2 s Assets 3 +
Equity Share Capital | 6,00,000| 7,50,000 Building 3,50,000| 5,00,000
P&LA/c 50,000 75,000|Machinery 3,00,000{ 4,00,000
Long term debt 2,00,000( 4,00,000|Furniture 1,85,000| 2,05,000
Creditors 4,50,000| 5,40,000|Stock - 2,60,000| 4,50,000
Bills Payable 85,000 95,000{Debtors 2,00,000( 1,80,000
0/S Expensecs 5,000 10,000|Cash 85,000] 1,35,000
Preliminary

Expenscs 10,000 -
13,90,000( 18,70,000 13,90,000/ 18,70,000

P.T.O.
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Additional Information :

(a) Depreciation written off on Machinery ¥ 20,000 & on Furniture ¥ 20,000.
(b) Preliminary Expenses written off ¥ 10,000.

{¢) Building purchased during the year I 1,50,000.

11. (a) BYR SPATOW WHTULRMAY FIOWF VO WOBTITIR, TJWYNRRYTRE,
BRNCIRNRT) PR VBT WHERBHBOTRMRRVRPE DO 00 BT 39A.
20T ﬁoﬁgﬁo\‘m 10,000 Zetonwad, X 100 o BREISH VeRF [PRB.
(i) F2AYR BT IAH T 75,000
& 10,00,000 % =o0o8Emns.
(iv) smmane Sunsh Shch wesdh T 20,000
o] 3on ":ﬁéﬁ’od% ¥ 75,000
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1000 8 RIWe LHOTEOTIRTR.
(b) 3N LJONLOT AYHT S0980D, JOIPOA
() MY 1.1.2017 Sowb T 3,00,000
(i) =BT 31.12.2017 Joth T 6,10,000
(ili) RS HedT BB 15%
(iv) ®$ mFS ¥ X 70,000 (NS 5 X 30,000) TRV, T 42,000.
(v) RS BS X 15,000 (SN BS T 4,500) 0 S, 39d 820RT.
(vi) == deomdy, T 2,30.000.

(a) State with rcason whether the following transactions result in the
increase or decrease of Working Capital or do not affect the Working
Capital.

(i) A Company issued 10,000 shares of ¥ 100 cach at Par.
(ii) Cash paid to Creditors ¥ 75,000.
(iii) Long term Investments were sold for ¥ 10,00,000.
(iv) Preliminary expenses written off ¥ 20,000.
(v)] Advance Income tax paid X 75,000.
(vi) Dividend paid ¥ 1,50,000.
(vii) Bad debts written off during last year recovercd ¥ 1000.
(b) Prepare Plant A/c from the following :
(i) Plant as on 1.1.2017 % 3,00,000
(iij Plant as on 31.12.2017 X 6,10,000
(iii) Depreciation on Plant charged at 15%
(iv) Old plant costing ¥ 70,000 (WDV ¥ 30,000) have been sold for
¥ 42,000
(v) A plant costing ¥ 15,000 (WDV X 4,500) has been discarded.
(vi) A plant purchased for ¥ 2,30,000.
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